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(a) On the grid, draw the enlargement of the triangle T, centre (0, 0), scale factor + .
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Answer(b)()
() On the grid, draw the image of the triangle T under this transformation.
(iii) Describe fully this single transformation.

Answer(®)(ii) oo,

(€) Describe fully the single transformation which maps
() triangle T onto triangle P,

Answer(e)i) e,

(i) triangle T onto triangle 0.

Answer(c)(ii) .

(@) Find the 2 by 2 matrix which represents the transformation in part (c)(i).

21

21

21

21

Bl

Answer(d) ( ] 21
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7 (@) Calculate the volume of a cylinder of radius 31 centimetres and length 15 metres.
Give your answer in cubic metres

Answer(a)

(b) A tree trunk has a circular cross-section of radius 31 cm and length 15 m.
One cubic metre of the wood has a mass of 800 kg.
Calculate the mass of the tree trunk, giving your answer in tonnes.
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‘The diagram shows a pile of 10 tree trunks.
Each tree trunk has a circular cross-section of radius 31 cm and length 15 m.
A plastic sheet is wrapped around the pile.

Cis the centre of one of the circles.
‘CE and CD are perpendicular o the straight ediges, as shown.
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(@) Show that angle ECD = 120°.

Answer(c)(i)

(i) Calculate the length of the arc DE, giving your answer in metres.

Answer(o)i)

(i) The edge of the plastic sheet forms the perimeter of the cross-section of the ple.
‘The perimeter consists of three straight lines and three arcs.
Calculate this perimeter, giving your answer in metres.
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Answer(c)ii) __

(iv) The plastic sheet does not cover the two ends of the pile.
Calculate the area of the plastic sheet.

Answer(c)(iv)
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(@ Solve the following equations.

Answer(@() w=
@ pei=4

(b) () Factorise u” -9u—10.

Answer(b)(i)
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For

1 Alberto and Maria share $240 in the ratio 3:5. Examiner's
(a) Show that Alberto receives $90 and Maria receives $150.
Answer(a)

o

At the end of 2 years the amount of money he has is $99.

Calculate the value of 7.

Answer(b)(i) r=

(i) The $99 is 60% of the cost of a holiday.
Calculate the cost of the holiday.

21

Answer(b)(ii) $ 21

(¢) Maria invests her $150 for 2 years at 4% per year compound interest.
Calculate the exact amount Maria has at the end of 2 years.

21
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Answer(b)(ii) S . 2

(€) Maria invests her $150 for 2 years at 4% per year compound interest.
Calculate the exact amount Maria has at the end of 2 years.

Answer(c) $

(d) Maria continues to invest her money at 4% per year compound interest.
After 20 years she has $328.67.

(@ Calculate exactly how much more this is than $150 invested for 20 years at 4% per year
simple interest.

Answer(d)(i) S

(i) Calculate $328.67 as a percentage of $150.

Answer(d)ii)
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8 (@) yis5 less than the square of the sum of p and 9.

‘Write down a formula for y in terms of p and g.

Answer(a) y =
(b) The cost of a magazine is Sx and the cost of a newspaper is S(x—3).
“The total cost of 6 magazines and 9 newspapers is SS1.

‘Write down and solve an equation in x to find the cost of a magazine.
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(© Bus tickets cost $3 for an adult and $2 for a child.
‘There are a adults and c children on a bus.
“The total number of people on the bus is 52.
“The total cost of the 52 tickets is $139.

‘Find the number of adults and the number of children on the bus.

Answer(c) Number of adults

‘Number of children
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NOTTO
SCALE

‘The lines 4B and CDE are parallel.
AD and CB intersect at X.
AB=9cm, CD=6cmand DX=3 cm.

(@) Complte the following statement.

Triangle ABX is m

(i) Calculate the length of AX.

Answer(a)(ii) AX=

em 2]

(iii) The area of triangle DCX is 6 cm’.
Calculate the area of triangle ABX.

Examiner's
e

(1) Regents Frep Center
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Answer(a)(ii) AX = em 2]
(iii) The area of triangle DCX is 6 cm’.
Caleulate the area of triangle ABX.

Answer(a)(iii)
(iv) Angle BAY=1° and angle ABX = °.

Find angle AXB and angle XDE in terms of x and/or y.

Answer(a)(iv) Angle AXB =
Angle XDE =

©ucLEs 010





image1.png
[ papers x

€ > C \Dpapers xtremepapers.com /CIE/Cambridged 201GCSE Mathemnatics %20(0580)/0580_s10_qp_41.pdf

£ soid fgures | Free Mo

B futo Prts Warehous

[E] Hitory onthe et ai.. [ NewTab [ Microsoft Outook We... 43, Hilll Academy SiS—d... [ hitpsffins{ s nat ava,

! phmusisolutions - Yah

1

A school has 220 boys and 280 girls.
() Find the ratio of boys to girls, in its simplest form.

(b) The ratio of students to teachers is 10 1.

Find the number of teachers.
Answer(b) 21
(&) There are 21 students on the school’s committee.
‘The ratio of boys to girls is 3 : 4.
Find the number of girls on the committee.
Answer(c) 21
(d) The committee organises a disco and sells tickets.
35% of the school’s students each buy a ticket. Each ticket costs $1.60.
Calculate the total amount received from selling the tickets.
Answer(d)s E]

(&) The cost of running the disco is $264.
This i< an ir £ 10% o the coat of

For
Examiner's
e
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‘Find the number of girls on the committee.

Answer(c)

(d) The committce organises a disco and sells tickets.
35% of the school's students each buy a ticket. Each ticket costs $1.60.
Calculate the total amount received from selling the tickets.

Answer(@ S

(&) The cost of running the disco is $264.
This is an increase of 10% on the cost of running last year's disco.
Calculate the cost of running last year’s disco.

Answer(@) S,

21

31

21
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